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What will be the pH of a solution containg 0.1M HNO3.
Ka(HNO3) = 4.70%1074M

What will be the pH of a solution containg 0.8M CgHsCOOH.
Ka(CgHsCOOH) = 6.30x10°5M
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f(x)
o

Match the function indicated in black.
o= Z
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A frictionless, massless pulley is attached to the ceiling, in a gravity

field g =9.81 mis2. Mass Mb is greater than mass Ma. The tensions
Ik TY' T, and the constant ¢ are magnitudes. (For each statement

select True' False' 'Greater than',Less than''Equal to") Motion of
Masses on a Pulley.

Ty

Tz
Tx

Ma

Equalto 'l Tyis ... Tz+Tx.

Less than Tzis ... (Mhig.

The center-of-mass accelerates.

(Ma)g + (Mblg is ... Ty.

| The magnitude of the acceleration of Ma is ... the

magnitude of the acceleration of Mb.
I "lTx is... Tz

Submit All Answers |

True

-
-
-
-

MV NIR PIVAN NMY DNPN NXIND NIWORN NINNN
WX HW NNINN H2PY DN TN 19IRL DNPA DVITIVON
MMpPI IDON DR PN M .0Mpa DTRYNN 99D
DRI NYRW HI2 NIYD’IN IDON NR ,NIRVW 932 72X LITIVOW
mMop2a M N1 XN 72 .19RW 939190 MDWNN HOIR
9¥R MINN NPV 0N VPN 0227 DVITIVD TWR IRV

010N VITVO HXR NPNTIPI NPYI 1) DVITIVDN 99

NN WIN'WH DVITIVOM DIXIND MAAN

NR OV, DIWN DY ININM 790 199N NN VIV
YWIPN MIM NPPPDN Y0P PN MNNI DWHRNWVH
VIV MYINDNA N 12902 IRNNN 230 HW 1IN
WIP DNV DONPN IINX? YIINN NHRNND NN
NN M2 MHORY HW MIdN DYPWND NMR 20 1T
NDIPN INRY .N99I0N 1INXY VPRI TUR NPPPIM PN
VYW DX SV PRI MPW ,MWI YW MYINON

1M XN MN2

173NV PXPNDN NDNI W INR VITIVD? INNW 77:3 IR
1N O30 MO INRD K2 VITIVONY WNN OV, IRNND
.nwn

f(x)
o

0 2 4 6 8 10
Match the function indicated in black. The function you entered is indicated in red.

fix)= 2.8%exp(-0.21"x)*sin(1.5*x-0.9)
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The data below was collected for the reaction:
2NOBr(g) — 2NO(g) + Bra(g) at a temperature of 10°C:

time (s)||[[NOBrl(M)
0.0 0.434
0.3 0.391
B 0.347
1.2 0.304
1.9 0.260
2.9 0.217
4.3 0.174
6.7 0.130
11.5 0.087
25.9 0.043

Using the data, Find ty;.
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Plot [NOBr], In[NOBr] and 1/[NOBr] as a function of time. You can cut and
paste the data from the table into an Excel worksheet. From the graphs,
determine the reaction order and the reaction rate constant.

Reaction order:

Rate constant: |
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